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AFES 210 210 210
AFZER @ #al) 210 (11) 171 (12) 156  (9)
e e ASEBFEE (%) 100 81 74
RESETH NEEER 420 220 220
HEEEK 405 375 323
RAE B FREE (%) 96 89 77
AFES 20 20 20
ARERE 2N 6 (4) 10 (5) 6 (3)
H5ER R AZEEREE (%) 30 50 30
EEEUER INBEEE 40 40 40
EEEHR 18 17 17
RAEESREE (%) 45 43 43
AETEE 60 60 60
AEEHm #sL) 47 (0) 47 (1) 39 (1)
HERISE AZEEREE (%) 78 78 65
BYREFER IREEE 120 120 120
EEEK 105 90 85
RAEESREE (%) 88 75 71
AFES 80 80 80
AZERm a2 L) 94 (2) 75 (0) 60 (0)
st AZEEREE (%) 118 94 75
BREH RETE 160 160 160
EEEHR 185 165 137
NEESFEE(%) 116 103 86
AETEE 370 370 370
AZEH@m 2L 357 (17) 303 (18) 261 (13)
e AZEEREE(%) 96 82 71
NAEE 740 740 740
EEEN 713 647 562
WAESFEE(%) 96 87 76
AEEE 10
AFEH HEELE
EIFE AEEETRE (%) 0
BEMEEER REE R 10
EEEHR 0
WAESFEE(%) 0




